*AAT (IC/HW)-Days 1 & 2
Chapter 7: 7-1 Verifying Trigonometric Identities

Verify the identity.
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‘ Show that the equation is not an identity. (Hint: Graph © and show that the left side # the right side)
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Make the trigonometric substitution x = a sin 8 for -n/2 <8 < n/2 and a > 0. Use fundamental identities to

simplify the resulting expression.
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Make the trigonometric substitution x = a tan 6 for -/2 < 8 < /2 and a > 0. Simplify the resulting

expression.
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Make the trigonometric substitution x = a sec 8 for 0 < 8 <1/2 and a > 0. Simplify the resulting expression.
: = — 2 ¥
22. Vx¢ —a? F ﬂ‘zf}‘éc;ﬁ "ﬂ_} 5/;, /fféﬂ,ﬂ'// i ﬂz W-ﬁ'
=R FAMnE

Find the simplest expression.
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